A
Section-A / WFT-HA E-ﬁ
Mental Ability / AT Jraar

Choose the altemative‘ which closely

resembles the water image of the given
combination.

W AFT H IR w S I
T BN S I | ﬁq“mﬁ
‘BKSORPE2

" (A) BXROBLOS (B) BKSOMBES.

\/2/‘0 ) BK20M¥bLES  (Dy-BK20KbES

In the question below are given three
statements followed by three conclusions I,
I and TII. You have to take the given
- Statements to be true even if they seem to
be at variance from commonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows the given statements,
disregarding commonly known facts.
Statements : All 'schools are colleges.
Some universities are. institutions.
No school is university.
Conclusions :
I.  All colleges are universities is not a
Rfjssibility.

II. No college is university is not a
- possibility. ° : _
III. Some institutions are not schools is

not a possibility.
Only I and II follows.
Only II follows.

Only III follows.
Only I and III follows,

wﬁaﬁwm%uﬁﬁ%m 3
ﬂam%ﬁlmﬁﬁmﬁﬁqﬁaﬂtm
T L foh fen T sl # | 9 W EEE
T a2 it U Fa 7Y, U TC FHoF
TTfeheh T F ITTHWT Tl

I TS HEIH Whel T8l §, T8 T gwreT

[
A) et [ 3R 11 IFa0 H § |
EB;%ﬁallaagmwmél

C) aet I11 STTER0 T § |
IED)) et 1 SR 111 eV Hd 8 |

MKP

e feu
frerd 1, 11 3k 111 few e & | st few g

\ 3~ The film director wants an actor for the |eyg

role of Lucky who perfectl fits gy,
description that appears in the origip,
screenplay. He is not willing to conside
actor who do not resemble the character 5
he is described in the scmen_ﬁjlay, 1O matter
how talented they are. € screenplay
describes Lucky as an average-—sized, forty
something, red head, with deep brown 6,
very fair skin, and a brilliant _srmle.eli'he
casting agent has four actors in mind.

‘Actor 1 : is a stunning red-haired

handsome who is 5'9" and in his mid-
twenties age. His eyes are brown and
he has anac%ive complexion. -

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and is 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early. forties.

Actor 4: is a blue—l?rcd, red head, in
his early thirties. He’s of very slight
build and stands at 5'. :
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Soham has invited his three friends

to watch the football game on hisdwﬁi‘:;:e—r

screen television. They are all hun

but no one wants to leave to get food.

B¥| the time they are arguing about

who should order the  food, a

commercial comes on the television

screen for a local Qllﬁzeria that delivers
izzas at home. €. phone number
ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them
recollects a different number.

#1: All of the men a%ree that the first
two numbers are 67.

#2: Three agree that the third number is 2.

#3: Three of them agree that the fourth
number is 4. o

#4: Three a%;'ee that the fifth number is

eater than fourth number but less
than sixth number.

#5: Three agree that the sixth number is
6; three others also agree that the
seventh number is 8. .

Which of the numbers is most likely the

telephone number of the pizzeria ?

A) 6726548
6724568

8 j?7’24&’_58 =
nsufficient Data :

TIEH 3 3T T QT i 3194 I3 BRI et

iR w:zgzaﬁﬁ H T WA h Eg;

smta fea g | 9 et y@ &, f

o % fore ameR 78 S Engm | g v

3 39 91 T 58 oL @ B & foh 154 WH

ucicl| , 39 99 U Y frssian

F e St ThA T T fasom 37 8 S ER

TR T UEETAT & | A TR T Ugl o

¥ 10 wmear & 3K ¥ ft 3 91g HA i

IR | 9§ dF GigH e AR
Y TIF HI TH A

averigE BTN N .

. s futtasm2g|
A e e & e & P e

T4 R |

%ﬁwwﬁmjﬁ? |

e A1 6 B;

#Symﬁm%ﬁ;mﬁws |
§ i |1 TR T <1 Ral
% (B) 6%734568
6726548

(&) 624758 (D) 5w

Mahesh is working with a friend to find

a location for the toy store he plans to

open in his town. He is looking for a

ace that is either in, or not too far

om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ? :

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly - young, - .-~ childless
professionals who use the train to

mmute to their offices each day.
'\M little shop three blocks away

from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store. :

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

TRY T SR S AT HTH HET L 91 T8

4%

(A) & % 5 # ¢ R & U4 TF 7§
el FRd § T ¥SH i 3 gw
et g (Riohe), Trad @ I
T ¥ & a1, fEam W9 € Wt
T fo

oo A o
(C)W%%ﬂﬁmmg;q;m
IEHE TH W & Ws-Iay
%?Iznsﬂsaﬁ;ﬂf@m
(D) = _ TH
fﬁ;qﬁaﬁqme’nﬁzﬁqﬁqq;q?%
<Al G I TS el b i e |

MKp

\

(E: scanned with OKEN Scanner



3

While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi
driver informs you that as he has no permit
for running the taxi in that city, he will
stop at.its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra ¥ 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the
tax rities.

Take note of the incident and

subsequently inform the matter to the
concerned authorities.

(C) Go up to the counter and ask the clerk
to give back the money which he has
illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

FhEm Yol SaraEiien et I ghamn ¥

T F AR (R TH) ¥ IE1 Fd 9,

MKP

JTTIRT ST Ieieh 3AT9h! T e s
IGh 9IF 39 Y& 7 ot o I TR
T R, 98 3% TR FEled H @R AR TS
fem % forw 2 50 e Yo =1 sy e |
HIEX R Yoo & T 39 9T & T IR
TFoTeh T 50 Afafh o @1 g Rraeht 8 Wie 78
QA TE & | A HTHE Hifen = forg sieet A
£ 1 0 TRt & st AT 2

(A) Tepe st 7 X s a8
m%aﬂtwaﬁﬁrﬂﬁ%ﬁaw
TR |

(B) W W @ ¥ 3k W § Wt
arftrpTicat 1 A B g E |

(C) FRA W I 3R 5o & 39 4 =)
?&?*Wﬁﬁmﬁum

(D) ¥ W= T W o g aR i
e g |

7.

ing an examination paper’qp
%ﬁtﬂ:ﬁm subject. One of m;
s, whose daughter is prepar

|
|
l
|
4

-

You are a Professor in a University ang

colleague : n
for tl'ﬁall examination on that Subjecy

comes to you and informs you that j; is
his daughter’s last chance to pass
examination and whether you could e
him by indicating what questions gy,
going to be asked in the examination, |
the past, your colleague had helped yq,
in ‘another matter. Your colleagy
informs you that his daughter will suffe
from depression if ‘she fails in th
examination. Under such circumstances
what would you do ? i
(A) In view of the help he had givey
you, extend your help to him.
(B) Report the conduct of you
colleague to the higher authorities, |
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are |
not in a position to help him.
A(D) Regret that you cannot be of any

3R FIT 31T TG FThT 3T Weg T Thd
i IR AT P IR I €
oS § ook w3 e o ww o
TYh! 7 <ht oft | 3T FEeHt T el

E1)|
T £ af o 3o whan &
%ﬁ;m%?hm mﬁﬂ
|3 aTTg T N ?

%1 Ie BT 3R 3T Igeh! 76
F h RN AT E | |
(D) YoamEl N R 3y 3% R BN

TG T8I X dehd & | L‘ﬂf'i,
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8.

| “Statement : The school

In a question given below there is a \

statement followed by two assumptions
numbered I and I An assumption is
something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implicit in the
statement. You have to consider the

statement to be true even if it seems to be at

decided to

{ysovariance from the commonlﬁak:own facts.
e

-

rusticate such students from the school
who is creating violence and not
following rules in the school.

Assumptions: ;

L. By rusticating students from the
school those students will never do
such things again in the future.

II. This action leads to discipline in the
school.

A) Only assumption I implicit.

B) Only assumption II implicit.

€) Either assumption I or I implicit.

Neither assumption I nor IT implicit,

T 2T 7Y 0 w7 | U w % @ o
L 1 1Y | 5 o

wag | ,
(A) et YT | 1 4

|
C) 1A UM 137 11 SafHfga R |
( ;:?hmlaﬂwé’rnméf%am

If in a certain code J\l/alilﬁaéc
EQUATION is coded as ZFJVMLRG,
then how is FORECAST coded in that
same code language ? :
%< W # EQUATION
! ZFJVMLRG % &9 & eag o sman
R, @1 SHt e 9T §# FORECAST w1 *d
Feag fman smm 2 .
) EROFTSAC (B) ULIVXZHG
(C) EFORSATA (D) VILUGHZX

Kmmd the missing number in the given

series following the same pattern.

& ¢ sjEen § waH Y w1 e w@
T GH HE 16 hifvg |

29A1, 3CL8, FO47, 56JR, (?)

(A) 50U6 "~ 4B) 6NV5

(C) 50Ve6 (D) 60U5

{I/_Bnad—beth the statements and decide

which of the following answer choice

correctly depicts = the relationship

between these two statements :

Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement I is  the cause and
statement II is its effect.

\¢B) Statement I is the cause and
statement I is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

QT HYUHT ! 4 3R 7+t B Prefefea

A | B 91 W Fwed 37 QA w0 F

oI o I A e A quiai

LG H

I. %R fmin sefEl 3 g @ 3§ nem
TR hl R 6t el A g MY |

Il §R X @ ¥ new R )y
R W Y6 TG |

(A) %suqlw.%aﬂtwnmm

- |

(B) ;ﬂwnm%aﬁtwwawm

| |
(C) Y I 3 11 §Hi Tei SR § |

(D) %Y [ 3R Il SFl WaT HRo ¥
TEE |

MKp

%
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e |
\)A company needs to decide whether to M below shown figure, count the
invest in a new technology platform or to aiher oEimEIEA:

continue using their existing platform.
Which factor should the company consider
most when making this decision

(A) The potential benefits of the new

latform.
JBa’q'he compatibility of the new

platform with existing systems.
(C) The cost of investing in the new
platform. _
(D) The potential impact on employee
productivity.
TS HUHT 1 98 G A T Jeyaehal & fh
1 T ¢ Mefiht 79 3§ faw w5 R
1 3797 HIS[S1 5 1 YA HTHT IR T
? % A THT ST ! TRE o
R e femam st =nfgw 2 15. —From the given answer figures select the
(A) 7T HT & gyfea v one in which question figure is embedded.

(B) et firee & wer o o ot g | &S I Tt 3 @ 38 g R v
(C) Tuw # faw i wwrq
AT ITEERT TG ST AFH AiTEA T |

137 Six books - English, Hindi, Science, '
Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book
but less than Sanskrit book. Science
book does not contain least paies.
Sanskrit book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many book(s) contain more pages
than Science book ?

(A)

JA) Four (B) Two © K&
(C) Three (D) None of these :
14 W i y ’ s W!

Choose the alternative which closely

_ h resembles the water i f the gi
a1 gEF A H0 98 § | o A 38 oo = w2 i ot e o v )

| 3R F=pa 3T~ 3T .

& A ged &9 g | 9%pa H
%wﬁ%aaﬁrggiaamg?q q::"%m% .I
mlﬁ?s%?%mlm R R LTA)“ :;;:;0:& 2
8VbiGER
%ﬁ;fgﬁ?gmﬁﬁﬁmﬁm%aﬁm | Yy cusaveaoes
(A) SR (B) 3 | 4O cussvereee
(©) = (D) FHATE T | }fi}J) CKBBALAGES
MKP ' 6 .

(E: scanned with OKEN Scanner



. i elect the alternative which represent
\/ﬂs; out of the five given belowpﬁgure:
; which when fitted into each other would

form a complete square.

3| _wwﬁshﬁ%i"rnéﬁa
7 § fi7 =1 wfififes
T R )

>PFap

2 3 4 S

1
A) 345 B) 134
125 L&3%’234 :
18. From the given answer.figures select the
one in which question figure is
eam“%cdded. PN
T ARt e frem gw
STepia AR & | 1S
' |85 (WS
D \T/ 60
: <1 0|
w A o A
oA o4\

Wd the following infor:mation carefully -
to answer the question given below : -

i1) M — N means M is sister of N.

ii1) M + N means M is mother of N.

iv; M /N means M is brother of N. =

: In the expression Q + D * P /N, how is

" PrelatedtoQ?

-~ (A) Grandfather
:gﬁ% Daughter

g9 1 T
L

i) M * N means M is father of N.
4

()M * N1 T4 8 M, N w1 T 2 |
()M-NFHAFERM, NHI a&T 8| -

(i) M+ NH M, NHI AT 2 |
(V)yM/NHFITEM, NFIWER |
=% Q+D *P/N#, P, Q & foha war
gl g ?

(A) T@I (B) el -

(C) ¥ (D) s

GRALY

20. a_town of 400- people, 185 speak
amil, 165 speak Punjabi, and 160
speak English. 40 speak both only
nglish and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak oqlg;one language ?
400 i = Teh T, 185 aftrer Serd
165 YS! st €, 3R
& 1 40 et 3R ofi aftre
20 e USTel 3R afiet ay Ao 8 1 10
Sheret S TR velt QT sera € | fha

TN Shael h WTNT §ierd &
(A) 310 201
(C) 210 (D) 301

1. ~Point B is 7 km to the west of Point A.
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?
(A) 120 minutes

(C) 115 minutes
fig B,

G

(B) 180 minutes
(D) 159 minutes.
g A < 7 it uftam & 2

(A

) 115 fime (D) 159 fime

M_ﬁd suitable answer in place of question

F’ mark.

TYETEeh % o I W ITGH IR e |
16:22::36: ? '

(A) 43 (B) 2

(C) 53 46
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* (Q. No. 23 and 24): 8 persons from A to H sit

around a square table such that 2 persons sit in
the middle of each of the sides. The persons
sitting on one side of the table face the persons
sitting exactly opposite to them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to
the left of B. 3 persons sit between A and G.
Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C
(when counted-from one side only). A is not
adjacent to F.

(TH. 23T 24) : AR H T & 8 A &
TSR A % TR 3N 6 THR S50 & 76 2 =afe
TAF o1 & 7 § da0 € | A9 F o I A
SafRAAl 1 4@ 39 % 9t faudd i 33 safedi
FIAXR 1A, ES % qR 9312 | G %1 9@ 39

AFHNIMAABF I TR EARR N A

IMGHAa3=MFREIFIMDF =

=ik 43 § (9 o I | TR IR W), MEH

iz 2 | G 3 C & wen Faa w =fis S92

gﬁﬁwaﬁtﬁﬁhﬁmmm%ﬁmqﬁ
, |

Who among the following sits second to

the right of the one who faces E ?
(A) C D
(C) F ~ \(P)Either CorD
i # & # E 6 3t 35y =hs
H T TR W AR 2
A) C (B) D

(D) AN CATD

,\L}/I'he receiveq
complaints from parents about bullying

v/@ F E
- How many persons sit between E and |

F?
“A) 3

(B) 4
© 2 (D) None of these
E 3R F ¥ e frm afr 43 8 9
(A) 3 (B) 4
© 2 (D) T &
MKP

—~—
school principal has

in the school yard during recess. Hg
wants to investigate and end thig
situation as soon as possible, so he hag
asked the recess aides to watch closely,
Which situation should the recess ajdeg

report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another .
“ girl and seem to have possession of
her backpack.

(C) Two boys are playing a one-on-one
game of basket ball and are arguing -
. over the last basket scored.

" Q)ﬁhree- boys are huddled over a

handheld video game, which isn’t.
supposed to be on school grounds.

el & YU Sl AEEHE h
TRe & WO H GHH o SR H AT~
¥ R fireft € | 98 Siee @ Sieg
feufer <t sifer iR & Tmme e =en €,
FTTE ST HEATEHRT TERIhi hl AHIH J
@A % 7Y 571 ] | HEATes wEr )
ferer fedrfer <t g wermrerl =t 6t =nf 2

(A) T IS Th o9 T 0o Fparrey g

? 3 a9 AR % Ty Sa-i
TR R '

(B) S wTsfFal & ik wresht % ama-
T 2 3R U e @ 6 sa dts
* e o e R )

(C) T W$H Aehe et B TH-TF Qe
T @ ¥ 3 ol sehe =R w
TEEAREE |

(D) T T &1 & Wt T i) im

%mmﬁmgqﬁ,q} ¥
Aee 8 7 g =i | =
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—Dixa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she
~ pulled up in the car. She was so excited

to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi
company.

1: The four women seem to agree that

. the plate starts out with the letter J.

2: Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter is X, and a different three
think that the third letter is K.

The four license plate numbers below

represent' what each of the four women -

thinks she saw. Which one is most likely
- the license plate number of the taxi ?

it feam 3 o= & fore ao i weferat
Y firer & fore 3t oft | 3 Wi & "
3IGHT a9 L @t off 919 98 FR A w=h |
I8 ol wferdt @ frem & oo st
Sewf oft o 7o 4 e F € oie T |
@ = weh wE, s Rk IEEh
Teferl 3 T3de e & W 9 fa
s & ¢l Ul I Hicd HH W HR FHI
g T |

1: <N A 369 S0 § 9ed Sdid gt 8 |

T35 e <l YT J SR AT § |
2: 3. 9F ofi7 gguad € T wie 120 &
1Y FHH B 8 |
3: I ¥ A At § o gET R X ¥,
SR 311 fi Gt & fos diau s K R |
e § 78 9Ir osdE wie g guid §
& 9r ufgenaii § @ vs = g=d & 75
TR 1 <@ | St ) ArsdE wie g
HI 811 ) ST gad T R 7

(A) JXK 121 (B) JYK 12L
JXK 12L (D) JXX 12L

|
I
|
|
l
|
|
|
9

7P

If in-acertain code language DESERT is
coded as EGVHTU, then how is BUDGET
.coded in that same code language ?
afe foreft fafea e Wit & DESERT
EGVHTU % &9 # T St 2, @
34t f< W1 ¥ BUDGET 1 8 %4
T smam 2
( GKGU  (B) CWIGHU
(C) CWGIGU (D) CVIGUG
8. unt the number of quadrilaterals in the
following figure :
L/\ ; o aqr r wen fie
D
=
C w7
_ N©Y10 (D) 12
Wing- question consists of a set of

. three figures X, Y and Z showing a

sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

ﬁmﬁfﬁqaaﬂ Gh?ﬁq R xgéﬁ

Z T FS &5 Th

TS 1 77 T R |

= fe@m

SR

qa;.

T Y HH Sfereh et -erdt 2 |

'“‘\l"‘" =

*) ) @

Answer Figures :

I ATHTAT :

(=) P ——

(A) B
— L
R

c D

Ole of @ &

MKP
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\_A(;f a mirror-is placed on the line, then

which of the answer figures is the
correct image of the given figure ?

Ife T T 0 @ W, @) s s

FTpfedl A A B W ey & w1 sl
EAR R INIEC R

5346

©

®)

N o[
=R o8

Mhich symbol will be on the . face
opposite to the face with symbol * ?

* {98 9 B & 49| Bos
faggm? -
-] -] - $

- | s
A) @ (B) 8

\}/C) $ D) +-
< If mirror is placed on the line MN, then

which’t of ef?hnswgr- figures is the
correct image of the given e
S o
3T

awﬁmaﬁ'srﬁrﬁwM 27 -

SHNAGAI E

N
(A) 2HVADAI ~ (B TADAVH?Z
(D) IAGAVIHS

| ) IAGANHS
+  Arrange the following words as per the

order in dictionary :

e +

sg H ALHY & FT
AR FH A TG : _

1. Successor 2. Successive
~3. Successful . Success

5. Succession
Véy,S,S,Z,l
) 4,3,5,2,1

MKP

B) 3,5,4,2,1
@) 1,2,3,5,4

maﬁ#m.

% The average of numbers 0.64204,

: - 0.64203, 0.64202, 0.64201 is :
& 0.64204, 0.64203, 0.64202,
0.64201 1 30 [ 1
EA{ 0.64202 0.642021
C) 0.642022 D) 0.642025

|

L{_’;{;} the given alternative words, select

the word which cannot be formed using
the letters of the given word : -
TR Ty Awfeves i & @ 98 weg Y &
fau ey % ararl w WA ek T
AT ST TR B
LEGALIZATION

) ALERT (B) GALLANT
(C) ALEGATION (D) NATAL

7 A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

(A) North (B) East

(C) West (D) South

T et i R et T FW wE A
@ 2 | IEHT q@ UREH H AN P,
| 3T T BT ﬁm%:@?n g2

(A) S (B) "
(C) f¥em (D»’?m E;

z
M/M;rl'c’ the answer as per the code

provided below :

Assertion (A) : Clothes are not washed
~ properly in hard water.

Reason (R): Hard water contains many

minerals,
(A) Both (A) and SR) are trueand (R) is |
e correct explanation of (A).
Both (A) and (R) are correct and
is not the correct explanation of (A).
EC EA; is true but (R) 1s false.
D) (A

is false but (R) is true,
IR Afhd =

SARNFYT (A) : FR T H FI 6 A TE
g ST |

HRUT (R) : HIR o7 § 3% TEA AT E |

(A) (A) 3R (R) S T & 9T (R), (A)
1 T R R |

(B) (A) 3R (R) 3! W&t & 7T (R), (A)
T FE TSR] TE § |

(©) (A) @& 2, et (R) T |
(D) (A) T &, R (R) W £ |

10 o
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\é&/ What day of the week was on February 14,

9,

20127

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 ®&d, 2012 St WHIE HTHA A1 A a1 ?
(A) TER (B) ¥HaR

\(C) TTETaR (D) gHaR

fin a certain code language HOPEFUL
is coded as KLSVIFO, then how is
CAPTAIN coded in that same code
language ? _
afe fodt ffea e W # HOPEFUL Y
KLSVIFO % ¥4 ¥ foran wman &, o st
< WIS #§ CAPTAIN i 38 Heeg
S ? :

(A) FZSGZRO (B) GEGSRDQ

(C) FZ8GCLQ . QD)’FZSGDRQ

40 Find. suitiiigieasmer in 20 place of

%2 Initially clock showed 1:30 PM, what

question mark. E

ST T3& % T W 39 SR gfeT |
392: 15585208 ? ‘ ;
(A) 7 (B) 13

(€) 17 B 21

Choose the box that is formed from the
given sheet of paper (X).

QTS AT i ¥fte (X) T T wfler B g |
T T

X) 1
(A) 1and2 only (B) 2 and 3 only
(C) 3and4only (D) 1 and 4 only
(A) %aa 132 (B) Fae2 3k 3
€C) %I 334 (D) Haw 1 3fit 4

E _H 'E'Wi.II the time be after 1,44,356 minutes ?

4 udl § 1:30 PM W @ 9,

1,44,356 fire % =g =1 g 2o 2
(A) 7:15 PM @) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

11

43— Kunjan, Lila, Mehul, Nikunj, Om,

Privank and Queen are sitting on a
circular dining table for a dinner. Queen
is not between Priyank and Mehul. Om
is neighbour of Kunjan and Nikunj. Lila
is second to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
is sitting to the immediate right of Lila ?
(A) Mehul (B) Priyank

(C) Kunjan (D) Queen

por, o, Bge, fg, 3w, Reis ok
gqu @R % 1T w e et 29w
A E | ol P A gt 5 o
] | 3T, oM 3R et 1 1St & | efem
Tﬁﬂq%a? WA W 2 | B, S99 %

SHTRE | e Sp R B AT R 2
(A) gt By s
(©) F (D)

m certain number of students are

standing in a straight line, and all of
them are facing north. Arundhati is 19t
from the right end of the line, and

— Arvind is at the 15™ position from the

left end of the line. Both, Arundhati and
Arvind interchange their lgositions, after
which Kirti who was 24" from the left
end is now at the 5™ position to the left
of Arvind’s new position. How many
students are there in the line in total ?
(A) 45

(B) 47

(©C) 49

(D) cannot be determined.

(C) 49
(D) fruifa v frrsrewar? |

MKP ‘
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?

45, Gamer Males who are Non-Dancer and

Indian are represented by which number ? |’

Rt ou S - (e T B) 3
e &, e o g gt T £ 2

1

(A) 5 (B) 7
- (C) 10 (D)*None/aT§ Tl
46, Choose the box that is similar to the box
formed from the given sheet of paper (V).
39 73E I T 9 U T FHAT H e d

T 9199 (V] _W%l |
W) _
0/
“Yoiey

(a) (by e @&
(A) (a) and (b) only
B) © Eiazcgﬂt (lb)
c) an only
() 3R (d)
(C), (b), (c) and (d) only
(b), (c) 3R (d)
(D) (d) only
: @
At 3:30, the hour hand and the minute
hand of a clock form an angle of

3:30 &, U 1 B h G§ SN FAE I
tﬁ <1 HI0T ST -
vE e

C) 90° . 100°
Find the missinﬁw number in the given
series following the same pattern. -

&t T e § GHH e 1 IFa B
: gqgnmmaﬁ’rﬁml) | '

15,17, 23, 35, 55, 85, (7

(i')’1 0F S 7o%5a 53, (B) 112

(©) 120 . @) 127

RAYFT

B,

12

WY H, HT % Th Ihs Bl

@ | EE ®

49/ In the question, a piece of patﬂer-is folded
e

and cut as shown below in questions
figures. From the given option figures,
indicate how it will appear when opened.

IR FTT
T}, S e e T 4 fegmn
T R | Ry T faeen Rt ), = 5
T TR WAE e @ em |l

eza]| MR

© |EE| ©

In the following question, statements are
given and these statements are followed by
conclusions. .You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases. ] :
Conclusions : _

I. Some bags are bottles.

II. Some suitcases are boxes.

III, Some bottles are bags.

IV. Some bottles are suitcases.

A) Only B; Only II

C) OnlylIl. _ None of these
g I hYA T g 3R

AT o ATE Y el 1Y |amﬁﬁt{a$

FYAl Y G T wéjﬁﬁaéw

¥ iy wefta & & | ! 7 R

ﬁu’rﬂaaﬁﬁﬁ;{%ﬁﬁﬂﬂ B |

W T g FW §Y, T T

Rl 1 6 T4 FATE |

HY : 91 qiaq 2 |

wwﬁlw gl

I. A el € | EE .

1L gggaﬁwiu _

I 39 Tag A€ | |

IV. 5 dael gehd ¢ |

(A) 1 (B) FE«ll

(C) Fa 1 (D) T AT
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Section—-B / WrT-§

Teacher Aptitude and Attitud’:

SK'  Suppose a teacher asks students to submit a
home assignment. Students prepare the
assignment generally as written document
and submit to the teacher. Teacher
evaluates the assignments, writes his/her
oomments/m%gestmnsin the assignments,
and returns back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication

(B) Verbal Communication

(C) Intrapersonal Communication

(D) Interpersonal Communication .
A A o wen s ot & 78 S W
F % fore g & | o STHER W el

TS % ®9 T JEETE AR FW E 3K

Toreres =t s = € | e weftg o &
T Hal 8, T W H aTt
feuoft/gegma foraar @ 3 oEf = amE
wierar & | 39 feufy 3 viw 2 R smar & 2
(&) TR-TifEe ¥=R (B) Wifesh @9
(C) TReIi §9R (D) Iidadiseh H9R
| ;Sg/ferbal communication ‘involves
conveying message through
communication.
#A) personal appearance and oral
(B) oral and written :
(C) written and facial expressio
(D) oral and eye contact

gur § HER & Ay
HemETMRE R | : Sl
(A) =aferTa ufRafy i ifgs
(B) #iftgw ik ferfga
(C) forRaa st It i arfraafes

e
e

(D) Hiftge 3R 37 duh
nature and behaviour of students.
Eﬁ Personal appearance
C) Gesture
Eye contact
3R SZaER B aaen F R R |
- (&) =R B) g

: technique is used to understand
Posture
I 1 ST BET & @WHE
(HRIEEIC] U

| Terep rftverran w@ g
. During the process of communication,
barrier creates faulty expressions,
poor translation, ambiguous words, and
inappropriate vocabulary, ,
EA; %hysical ?3 goclcﬂ—ful'gur?l
-(C) Linguistic sychologica
TOR i1 wikar & 4, m%
' E,;qujf'i 4, G« HAWE I
Wmm%ma t
(A) TfEs | (B) AmRIH-ERhiaes
(C) veT-gatft (D) TS
55./Oxy en is regrescnted by Oy’
 Which type of knowledge is it ?
A) Procedural knowle %e
Metacognitive knowledge
' onceﬁatual knowledge
Factual knowledge
‘TR T 0,81
TR P TR AT AR 2
(A) Sfsrame M
(B) TEIHTHS T4
(C) Heheq-TcHsh W
56, Which type of communication helps
individuals and groups within  an
organization to communicate for achieving
established organizational goals ?
Interpersonal Communication
Transpersonal Communication

C) Small group Communication
Organizational Communication

Gn?n% & '.

wﬁsﬁmﬁ%ﬁaﬁwwﬁawmm
. AR W W W % U g9 $@ 8
HEAA FATR 7 -

(A) JaatRD HOR (B) WAReE TR
(C) MY TR HEIR (D) HSATHS TR

\57." Which of the following sentence is
incorrect in context to learning ?
A) Learning is Unitary.-
Learning is individual and not social.
) Learning modifies the behaviour of
D) t&e ingiiviéhial. ‘h lif
arning helps to make choices in life.
W & G § Fefene § 8 #
T TTETd 2 2 N
(A) HrEw whTene R |
(B) Hie =afwma g,
(C) ¥ =ufth ¥ =qa8R

HATR |
(D) ¥R Sffa # e e Heg e ¢ |

T |
g
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.58 Which of the following sentence is
correct for ‘Teaching’ ?
(A) Carrying out  activities
completion of syllabus.
(B) Concemned with only growth of an
individual. :
(C) Form of intrapersonal influence
aimed at changing the behaviour.
) Simulation, Guidance, Direction
and Encouragement of Learning.
m H ¥ W G A A F
?
(A) tnatw:r W?ﬁﬁ e wfefaft &

(B) mmw&s%ﬁmﬁmﬁu

(C) TTER i TGTH F Iexd & TREAR
TIEHE]

(D) @™ &1 gHWI, AnteeH, fem 3k

. In psychology, awareness is a concept

about

(A) the state of knowing, perceiving
and being cognizant of events

(B) the state of knowing somethmg

(C) State of being aware

(D) None of these

for

FrEHhdl _ FERATH
JTURONE |
(A) %aﬂ Y T, T 3R I
S Y fRafa
% B 6 fRafa
(D) ¥ & =I§ TE
Teaching is not effective when

(A) students are actively involved

(B) it is well planned

(C) various situations are adapted with
different techniques
communication is not effectively

reciprocatin
ﬁlmmqﬁ Grq'
(A) BT Ufha §9 & M & |
(B) 7 g 2 | |
~(C) Tuftv= witfiferml = i aenfient
% | e |
(D) ¥R 9 Y IR e R |
\_ B MKP

>

is the major source of unhealthy
relationships.
(A) Anxiety
(B) Depression
(C) Institutional chaos
(D) Institutional stress _

T IR YT 1 TIE Ha g |
(B) ﬁ'{'ﬂ!ﬂ
©) mmw
(D) TEITTA T

\4 The nature and quality of interpersonal
relationships greatly influence the ____
- and 2 of an institution.
{(AJ" environment, working
(B) environment, development
(C) environment, ethos
- (D) env:ronment, hfe

& 3ﬁt ﬁagaw%?ﬁm_

A) STATa, B
B) STATeRv,
(C) SraTaor,
(D)anmawrsnaq

\63/ Which hlerarchy follows top- bottom

approach in an educational institution for
~ decision making ?

“(A) Director, Principal, Management
and Teacher

(B) Principal, Teacher, Director and

- Management :

¢C) Management, Director, Principal
and Teacher

(D) Teacher, Principal,  Director,
Management

f‘ﬂﬁ ﬁmw a@m ] ﬁvha%% ﬁ'-maa‘h

w1 AFFE

- @ gfdemiur
(A)ﬁ%.w TUFIEH, WEed 3K
. ANEYH
(B)mrmmr{m amwm ﬁ%maﬁt
(C)W fresms, SHTETTH 3R
NETH .
(D) eaTdeh, TuATEATIs, A, yaeH

14
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: \64./’Which are the two significant and crucial
factors for an Interpersonal Relations ?
honesty and trust
B) trust and respect
C) honesty and judgement
D) trust and respect &

. '!udgem%%ttﬁoga e s

of the institution is a bridge to
maintain  appropriate
relationships between staff members and

management. i
ES; ead Eg% Supervisor

Director Co-ordinator

EPCEED

_ (©) frews D) 9=
. ‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of
-modalities for the foundation of quality
education.’ - ;
What is meant by SDG-4 7
A) Social Development Goal
Sustainable Development Goal
C) Standard Development Goal
2 System Development Goal

‘e | SDG-4 2023 1 @l
wmﬁﬁa%m?ﬂt—aﬂﬁ
TS T WAR ST @ 1

SDG-4 FTFT AR 2

67./ “It is the responsibility of the to
keep relationships with students focussed

on Pedagogical goals and academic

requirements”

(&) e B

3 “§I - ﬂ’"—ﬁ aﬂx teac er .3ﬁ

R Hf5a ol & T gavl # s v
T B '

©) vm o

(D) eI
a : .

honesty and

professional .

15

70 ‘A

68.
and shared

. shared
mutual

Which of the following are the signs of
fostering healthy interpersonal
. ..-relationships 7
- (A) mutua respect
responsibility :
B) mutual commitment to goals
EC} no_willingness to negotiate and
ngage in dialogue
) mutual  respect and
rcspon_sibili'?!t 18% a
commitment to goals both |
frfafea Y T IqaaraRich
e I FGET ¢ & Hebd & 7
(A) TRER TR 3R @ R
(B) wgdi o ferg areenfies wfeargar
© (C) Sraeta w AR srera #§ it g
T AT e |
(D) TER THH R HTH agn
_ et % forg ureafies gt g
9.~ The teacher is responsible for maintaining
(or acquiring) not only in areas of
personal interest but in all areas relevant
to course goals or objectives.
A) relations with others
pedagogical knowledge
C) well defined standards-
D) subject competence : ;
& | g;ﬁa ;ir L] g: %ﬁ‘fq 7 afcw
A& ar 3%‘\’?“ B IEIRED
gg G A . ol §9I¢ W@ (I 9
) % fo R # |
. (A) FHTHEY
(B) = -
¢ (C) =3t ot & uReiya A==l
| o e -

_ is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution. :

(A Profession (B). Job
(C) Trainin (D) Work

AT & 9
%@Fﬁﬁaaﬁ%_m@ﬁﬁ:ﬁaﬁaﬁq%
3R T W w9 ¥ A7 feet gen F ot
YT foha i wemaT |
(A) 9w (B)
(C) wrRrEor (D)
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7~ Which of these is not a characteristic of

A .
%ﬁmﬁ@mﬁmaﬂt

a profession ? _ ‘
(f{’) A profession renders an essential

ocial service. :
A profession demands continuous
in-service training of its members.
C) A profession involves a code of ethics.

.(D) A profession does not demand

lté]c;ssession of a body of specialized
owledge and extended practical

training, . -
ﬁﬁ%éwaﬁﬁﬁwqﬁ%?
(A)mgmmmﬁmﬂmm
AR | |
(B) TIE™ AW TR & FRE
YITehTeAT TIT&T0T Y | e @ |
(C) =Ha9[E ¥ AR Eckd
(D) =ae™ Ry @
STEEIE TRE % &= & AU
1 | T LT R |

Which of the following is not

characteristic of a teaching profession ?
A) Involvement of intellectual operation
Transforming raw material into a
ractical and definiteend =
(C) Possessing . educationally
"~ communicable technique

D) Lack of self-organization -

%I‘Eﬂ%l‘ﬁﬂﬂ T ¥ S @ e Feas Hi

v adig? _
Sifge T=TeH | et 8T |

ff¥aa i 3 qer | _
(C) e ®9 & HaTH qAHTeh W | -
) JTCH-FITSA shi HHT | _
“Professional development of teachers is
not an event, rather it is a process.” This

rocess is in nature.

i A; static EB% ‘continuous
C) rapid D) slow
ki o w18

1 bl TR e
p Th I” 98
A b

(A) f@r «BY- TR
\/’cg a (D) it
747 In an Educational institution

MKP

_commitment to the well-being and
development of all pupils is essentially
demonstrated by a :

%A} Teacher rincipal
C) Management Director
asfl

e T
e 3R faerma & wie gfegar sfvart

’(ﬁ:)ﬂw___mg):ﬁhﬁw%l
(C) e By e

R foraia

16

7W statements from the below does

not show commitment of teacher

towards pupils and pupil learning?

(A) Teachers treat all pupils inequitably
and with disrespect. _

(B) Teachers treat all pupils equitably
and with respect.

gﬂ(i; Teachers treat all pupils with respect,

D) Teachers treat all pupils equitably.
fou T FuA H e g

forenRfa ok frenRial & aftrm & wfy

Rreren <1 sferargan i wefifa 78 FaT R 2

(A) reass aft feenfiat & @ IEHm
w9 Y 3N TG F1Y FTER FA G |

(B) 3reamdes o+t ferenfefat & @ T w9
¥ 3T & Y FEERFA S |

Meacher’s commitment to Students’

well-being and learning is not through

positive influence

professional judgement N
(C) empathy in practice |
D) maintaining strictness j
& HeAm AN HE F W g R
Sfcrerget FAEHETE S | '
A) BEIC]

fofar

(C) e H g
(D) a&dt 1T T

. What is STEM curriculum ?
(A) Science Technology Education &
Mathematics :
(B) Science Teaching Evaluation &
Mathematics
(C) Science Technology Engineering & .

\MMathematics
Sociology Technology Education &
. Mathematics
THEIRT (STEM) TTgashd RITE ?
(A) WISH TS TSR U Aefead
(B) WrH Ak gacue Ug AR
(C) 4gE  IFiwe SRR TE
iy

(D) WIRTIS oeie TR U
Al |
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variations  are important
- consideration  with reference  to

dependence-independence.

A) Attitude EB Aptitude

C) Age D) Interest
B2 A

c

=& qAdl

faferamd meeyl fmm # |

. (A) R AB) Jrwera
C) g (D) ,

- How.does a student get socially mature ?

_ A student can become socially

matured when he is exposed to a
few fpen le with whom he/she is
comfortable and can develop his
thoughts accordingly.

(B) A student can become socially
matured when he is exposed to
those people who are sociall
mature so that he can pattern hig
behaviour accordingly.

(C) A student can become sociall
matured when he is exposed to self

and develop an understanding of
society on his own, '
(D) None of these

HATRE F9 & 7R $3 g1 g 2
gﬁwmﬁmmémmﬁrm

IR AT % ook o o |
A g

ma%a'a‘a‘@m%

31 % ey

1 G | g
(C) T B qmIRS &9 & TR9Ts a9

Hehdl 8 I 98 @R F TUH ¥ 37
aﬂta%ﬁmﬁgmaﬁmﬁm?r
EXGIRA

(D) ¥ | IS 7

During the process of students

learn to live up to the expectations of the

society in which they live.
Social Adjustment
Social Maturity
Social Growth :
Social Justice
_ % W BH 39 g &)y
ﬁﬁm@um@ﬂaﬁ%ﬁaﬁélﬁﬁ I
(A) 9IRS gaRe
(B) @mTReh qitgeman
(C) | feremrg
(D) "R =

—_—

17

helps student to know what is
desirable and expected from him.

(A) Providing motivation

(B) Providing a strict & targeted

atmosphere
(C)- Allowing students to do as per their

h (Flexible atmosphere)
&Bﬁ:;viding appropriate role models
—__ O W 98 I § Heg wm  fn

- 98 R Tio 3 s |
(A) RO &M T

- (B) 9% 3R wifdra rarawor W s
(C) B 1 ITh! TBT % ER @ &

STIA AT | (AU aarao)

(D) ST RO SGH HET |

\_&/Who introduced ‘Play way’ method ?

(A) Caldwell Cook (B) Froebel
(C) Montessori (D) Blooms

P @ ¥ (‘Play way’) wgfg i
A H 2 N |

(A) T TF (B T

(C) wicwdt (D) =@

» Which factor influences that students
studying in a secondary  school
understand that society does not expect

him to regress to childhood behaviour at
this age ?

] \({). Concept of dependence-independence

(B) Self-control
C) Stress
gD; Social maturity E
B W HRE TRE W e TH
weafien foerer 3 et aten o g
T wmr SR 39 o A wEw ¥ AER #
3N Sl < Iwfig T e 7
(A) Trirar-wadsar it srgumon
(B) ey
- (C) ™=

(D) | qitqean

MKP
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tch the following :
\}4/ 1\]?f,f;‘st -I List — 11
( parameters) (Description)
Flexibility 1. Ability to set clear

s expectations and

parameters for
_ performance -
Holding- Ability and willingness
people
accountable ~ situations and change
tactics
Ability to support
Eupils and to help them
ecome confident
independent learner
ability to provide clear
direction and to
enthuse and motivate
them

fr=fRaa =1 gafera HIT :

gt -1 | ‘ ~-1I

(HTICE)

TRl waw % fog wae 3rEd 3R
HTUEE! o) e HH i G
gt i SEw 6

et BN 3T WA S

Managing 3.

Pupils

Passion for 4.

Learning

1.

o

-2,b
(B) b-1,¢-3,
(C) c- 3a d- ’ i
(D) d-4,a-2, b-3,c-1
Which of the following defines the
concept of leadership ? '
A) influence, crucial, expectations
EBi influence, expectations, relationships
C) influence, relationships, voluntary

85.

0
) influence, voluntary effort, goal
achievement
g Y AU H

frafefaa & | =0
e St 8 ?

(A) W, foriaes, e
(B) v, 3G, FEY
(C) T, §eY,

(D) w94,

T -
wioss T, W& 3T

MKP

to adapt to the needs of |

'\ﬂ leadership,

18

transforms

potenfial into reality.

analyst . (B _catallyst
C) educationalist (D) faci itator
R K3 L e k]
e |
@A) fBews . (B) T A
(€) Tremamet (D) EIE
Match the following : "
List—1 List — II
(Leadership Myth) -(Description)
a. Everyonecanbea; i Rarely
leader. '
b. Leaders can deliver/ii. , Not
results. necessarily
¢. People who get . Not always
the top becomes
leader.
d. Leaders are great Not True
coaches. '
LK CINREIE
N L N
2. TR I T 1. TG @ H

Rk .
b. S RO G ERAE | il g%mm
c. Rt g a™ il S

AT E | )
d. ﬁmn‘a‘muﬁrﬁ@% v, TRTE R
(A) d-i,a-ii,b-iv,c-iii

2
\((g)))-i,c-iii,d-iv,a-ii
a

- iv, b - i, c- ii, d-1.
(D) ¢ -i, d -1, a-iii,d- iv

as./flse of ICT for quality education was
highlightedby
(A) NCF-2005  (B) NCF-2009

(C) NEP-1968 _ \ NEP-2020

fren 3% R amEEE (ICT) %

JGAI W 21 SehTST STl 71T T |

(A) TFEATH (NCF) -2005

(B) TR (NCF) -2009

(C) (NEP)-1968

(D) (NEP)-2020

(E: scanned with OKEN Scanner



'89. Below given are the strong basis for

leadership devel ent. Match List -
with ListhI - b e .
List-II

List-I _
a. Responsible i. Possess a long term plan
Leaders for their school as well as
.. career and personal life.
ii. Take psychological
... ownerships for their actions.
iii. Needs recognition that
goes with success.
iv. constantly feeding their
minds with new ideas.

b. Focus

c. Ideation\

d. Credibility\\

i 1 e e e % fore wreg amem
& | gEt-1 1 gt 1 & gt iRt :
-1 ghm
a. Per T % -G
Jar JATSiiferpT 3R SfETd Sheq %
fo1e oo elenifors Ao o |
b. higa ii. 3% T H o gasfs
HET I
c. SIEAT i, U89 il Td Bl & S
d. iv. TR feam = Tg
RCEIkE kel
a-ii,b-i,c-iv, d-iii
-il,c-i,d-iv,a-iii
c-ii,d-i,a-1v,b-iii
d-ii,a-i,b-1iv, c—iii
Which of the following are the
characteristics of leadership in an
/gducational system ? i
1. lead by example and inspiration.
ii. guide personal programs, but rely
on his decision. :

iii. produce cohesiveness  without

which co-operation is impossible.

. IV,
He v
by
advancip%uscful suggestions,
q ¥ e dl

don’t resolve differences which arise in
ing organisation because priority is
e growth of the organization.
contribute to the group
" yorreft
e 6 ﬁiﬁwam;i;
i, 3eTE 3R
ii.

1ii. m%'
-yl e E 0|
gﬁ%mﬁ%ﬁ%ﬂ.

)

iv.

V.

©

i, i, v

i, iii, iv 1, )
11, iii, iv

i, 1i, v

R

91\/'[{.comm_unication of leader’s vision,
making his/her dreams apparent to
- others and aligning people with them is

Vi anag.ement of Attention
Aanagement of Meaning
anagement of Trust
Management of Self
T FER, 394 9T
TEU & T Fohe T SR A B ITH

1Y S 21 .
(A) FEHITEUT  (B) 31 T e
(©) T JEY(D) 4 1 YE6H
Which are the most essential factors in
leadership ? R
A) follower, leader and situation
EB; follower, situation
unication
: leader, = situation
___ communication
(D) leader, follower,
communication
g TS HE B A § 2
(A) Jrgawh, = ok Rufe
(B) g, fufa efk w=R
(C) Jam, Rufasfiidem =
.~ Evaluation that monitors the learning
rogress during teaching is [
Summative Evaluation
Placement Evaluation

Formative Evaluation
D) Diagnosis Evaluation

&0 % QUM Higa i sty ) P

F T G TR 2
(A) TN T

(B) wiEHe qoaiehT

(C) sAfema (formative) HaTeh

(D) weifeh qeaiehe
94. According to Kohlberg a teacher can
instilk-moral values in students by:
Laying clean rules of behaviour
Giving strict punishment
C) -Discussing moral issues with them
,Givihn_g importance to religious

teaching
e % IgaR, O e Rt §
YT LU T8

92,
and

and
situation and

qearg |
(A)am%;ﬁﬁwml
(B) ®glEsa |l

C Yy A gEf W == o |
ED;mﬁhaﬁrmaﬁa?m%m
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\Word commmigation is derived from
Jatin word ‘communis’ means .

(A) To make common

(B) Toshare

(Q)’ﬁzxchange

(D) To know

i

(A) I ST & forg
(B) HT3N & & fg
(c) Tafsma = & ferg
(D) T1d % = ferg

Mw students can decode the message

sent by an audio programme ?

(A) Through visualization

(B) Through demonstration

(C) Through understanding .

D) Through interpretation

T T AT A g A T e
FeHTE A WEDAC?
(A) SEATEEHA A A

(B) WEi % ATEH |

Fue §

are the components of

Given below
Select the

communication process.

appropriate sequence.

(A) sender, receiver, feedback, noise.

(B) sender, receiver, medium,. NO1Se,
feedback

(C) se , message, medium, receiver

L@jé:i:, . message, medium,
receiver, feedback, noise

g SR % e e g e § | ST
i 1T B |

100.

98./C;mmunication starts  with  the

conceptualization and
sender.

(A) development of an idea
\ig)/deﬁzlopment'of message
) transmission of message
(1_)) r;::;ving of message ;
IR Y G Thodd IR -~ &
B | | =
(A) RemF @ (B) e fwm
RN % GE (D) HH JTH BT
communication carefully
plans the message and delivers it
effectively - so as to invoke self-
communication among students.
(A) Intrapersonal erbal

(C) Non-verbal (D) Interpersonal
| GO FEETH & T I

by the

_ mﬁ.ﬁﬁm@ﬁqﬁamig

- BE % 9 FH-FEAR HT IAETH
S | :

(€) -dfews (D) mﬁaﬁmﬁ
Suppose you plan to teach a ‘content
(concept) using an audio programme.

Then, you have to. write the script

audio programme. SO,
transacted in the

_into script.

required for the
the content to be
classroom is
(A) Encoded

(B) Decoded . L
(Q)/Both Encoded and DecodccEﬁ.

e TR H
A o ey (T &
o @ €1 S
arfrea S

e & & o e awof
Bl Iﬁgﬁ%n
(A)qﬁﬁ'?»g
(B) fIes
(C)aﬁ@%saﬂtﬁﬁg
(D) THATE T B

__‘

(E: scanned with OKEN Scanner



Section—-C / 91T-9

General Awarenes.

\_/ru./Which of the following

resents the
most significant feature o .the Indus
Valley civilization ?'
urnt brick buildings
First true arches
uildings of worship
Art and architecture
a1 iy arét wwrar 6
ﬁ:rs’mar TG AT 2 ?
(A) EIFﬁ e gt_gz
(C) q:xn swn%f
.~ @) F ST STEgHet
102. The Brahmanas are books that deal with
(A) the Bhakti theory (B) ritualism

©) y;%a ;g medltatlon
(A) wﬁsﬁ@ﬁé (B) mﬂr
) ATH (D) &= 4
Th tin f Ajanta ct sto f th
gAE pﬁa;nmagsal?a Sy ahaglfsargta i
C) Jatakas - Panchatantra -
1o & o Tt  Rfasas ?
(A) THEI (B) HeMHRd
C) V% (D) d=aH -
1047 Freedom fighter Shri Surajmal Basaniya
belonged to A
ikaner Banswara
‘féz Jaisalmer 823); Jodhpur
T S S G s 6 |
(A) iR (B) di&areT
. (©) e (D)
Me Ashoka pi illar at Allahabad pr0v1dcs
information about the reign of -
Chandragupta Maurya
Chandragupta I
C) Samudragupta
D) Chandragupta II
RCIEIETG <Al Y BULECI Y]
% AR H JHH TS H 8 ?
(A) =g WR (B) <5 YU
(C D) =g feefia
e mig g' ﬁftcways found at the
* tcmples of South India grecalled
Eﬂg g ; Shikhars Gopurams
R TR ﬁN""" o et
: R L
YIRwRITCH YerergR e
(A) Taraw (B) ;Z%“' -
(C) "R (D) Y 18 gl I
o 21

. Which of the followmg ruler known as

“Abhinav Bhartacharya” ?

A) Rana Prata

a Kumbha )
Hem Chandra, Vikramaditya

" (D) Maharaja Suraj Mal
3@ fra wEE w <o

qRETET” % A & AT AR ?
~ (A) T YA

(B) Tom ST

Eg) LR L

concﬂlate the Congress by guaranteeing
(A) the setting up of a representative
Indian body to frame a new

constltutlcm
51 overnment’s assurance to protect
e political rights of minorities.
© E’,ﬁt there would be no partition of

(D) that separate electorates would not be
provided for the depressed classes: -

1940 % ‘3T TS’

T HIE & FHGNT HA iy FHI B |

. (A) Haue s % fou
Wﬁmﬁmﬁm
(B) AIEEHI & THIfash IRl <l
& & e g =1 AT
©) ﬁmwaﬁéﬁmqﬁgﬁn
(D) gfera =t Faqmﬁaiamm
e &1 fonan smam

109./ The northernmost limit of India is
Eé; 36°4' N latitude g:f.% 37°8' N latitude

37°6'N latitude (D) 36°12'N latitude
WA Y T It e
(A) 36°4' N &
(B) 37° 8' N &
(@) 37° 6' N &
(D) 36° 12' N 31&TI

!}B/World‘s Longest Highway Tunnel above
10,000 Feet located on which national

hi
?hNH 12 {NHS

10000tﬁzﬁmfawaaﬁraaﬁ

ﬁﬁanﬁwmﬁm%%?

(A) ﬁ 3 (B) T 8

©) [Tt 12 (D) ST 18
MKP
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vi‘l/ What is the most im Jnortant characteristic
of the lslands (Indian) located in the
Arabian Sea ?

They are all very small in size.
They are all of coral origin.

i g They have a dg dry ol1mate

ey are exten dT%u'ts the mainland,

ae 4R ¥ @ g (wwein) i wed
It maa%% : oI &

(A) Hga I

(B) %mﬂmn@' 2

o é‘i@@a%%;ﬂawgaé |

\,Hfln the heart of the Intertropical
Convergence Zone in the northwest the
ot winds known as *

\g%jf 00 . Mango Shower

C) Nor Westers E]%; Blossom Wind

F-UfTem H H-IWhiest At

%‘a’ % 7 #, Y 3R T g @t
%mﬁmm% |

@ q

(C) TR a=H (D) whmﬁ:es

M5 Tndia is the world’s largest producerof ___
(A) Groundnut (BY Wheat -
(©) Rice (D) Pulses .

R L w1 fRE w1 w w9

SAEHE |
(A) Freet (B) 1§

(C) =Taa (D) gl

4. In which of the following states,
Tumallapalle, where huge reserves of
Uranium are found, is situated ?

E g Jharkhand Kerala

C) Tamil Ns%lu ‘Andhra qu;l_{de;%
i %,ﬁﬁ%faa%a'ﬁm'm' A R 7
(A) vrEs - (B) ¥

C) wftrerg (D) % weul

\A15. Which of the followingstate has area-
wise the largest forest cover in the
country as per FSI 2021 ?

adhya Pradesh
B) Gujarat
C) Karnataka
D) Andhra Pradesh

anozl% _
CF: 3139“ frafeies & @ fre

q
?:)m%;%m % feeme A 30 1 v waT
weg B
(C) FAteH . ED)) gmﬁw
MKP

| S

|

(A) Tt et

(C) .
\42/ Arryad Ali Khan is associated with

22

_~The Ahom tribes migrated from
‘V{l’e S Larlon TwﬁeAfg?l?mstan

3g?_é_ql\\/lya.rlmalr .4

(A) Hiciet (B) :ﬂ;rﬁ%mw

(C), RIR (D) /A

. Which of the following was the first
Indian woman who went into space ?

Shmsha Bandla Sunita Williams
Lw%%l%ru Humpy pana Chawla
%Fﬁ TRe afgen ot

i aaaﬁ&r | =r§ oft?

(A) Rifwrsigen (B) gHfian faferns
(C) =& gt (D) <heqHT |TEel

VI{Who of the following never became an

Acting President ?

© EEJ"’E 3 Hidaystutiet
al

'ﬁnﬂ%ﬁaﬁ FriarEs TFAfd

&I T 2

(A) st i (B) SfeRt &=

(C)E"’f??f“ﬁf’r D) @.

o of the following ladies is popularly
known as “Grand Old Lady” of the
dence movement ?

Sarojini Naidu
SuchetaKn alani

} frg afeen # @
anamaﬁt ﬁgaﬁaaﬁr ¥ ®q # I

(A)ai’r%m#mg (B) g1 I
~(C) 0T AW (D) T 98

. Which person is called “Bird Man of Indla“ ?
Sahm Ali
Dr. Rahendra Prgsad
Dr. Srikrishna Singh
Salman Khan
<h! *“8TRE T FS AT HET STl & 7

(B) . Tg5 TG
fig (D) GeMR EH

which - of the - following musical

instruments 2.

A) Guitar B) Veena
C) Sitar Sarod
G ISH T T Q forg 9/
I Q FEfora g ?
(A) firer (B) o
(C) far (D) G
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'\Alm Krishnamurti is an

accomplished exponent of

{A Kathak Bharatnatyam
C) Odisi None of these
| ) HUH (B) Gl
| (©) AfEHHR (D) T AR
| 123. is famously known as Flying Sikh.
| Maninder Sin Yuvraj Singh
G Sandec Sm Mlikha Smgh
| g & ™
b aTrﬁat%s Rw
- (A) L (B)
wRiE (D) Frewt e

)
\1}4/%11(3 first Indian Scnentlst to win a Nobel
Prize was

a Sen
C. V aman '
C) Hargobind Khorana

Subrahénﬁgg'};%Ch ndrasekhar
%mﬂzr%ﬁm%
amaf A (B) €., v

C
S

-

bmdranath Tagore

5 el
ouse gases
ation of hazardous wastes

Mother Teresa
athiyar
Wwﬂwfg«mmm%?
(A mﬁwﬁm (B) Tefigare 3R
(D) WRR™R
1 1ch of ¢_following is the primary
agen the Kyoto Protocol ?
ontrol anthropogenic sources of
a eenh
fd Regu
D) f{%er uon of Global wam1n&
(A) Iﬁﬁ;ga E’q‘f * nnaaﬁa |ial &l
(B) @aHTH awf%rz
(C) mm%%ﬁﬁuﬁaﬁ |
ich are the main pillars of “Namami
Gan e” project 7
eweraﬁe Treatment Infrastructure
River-Front Development
iver-Surface Cleanmg
All of these
(A) T YRR UG- HT=T
e ferpm

% = HAR THT§
(D) ﬁmﬁ

stlﬁﬁaagnm D gaﬂméaﬁ‘r@t .
0 is called as Shag(e)spearc of India ?
A) Mahakavi

ate the production of nuclear

23

Qs

128/What is Ramsar Conservation ?
(A) It is about conservation and wise
e of wetlands.
It is about conservation of forests.
It is about conservation of mineral

resources.
(D) None of these

mmmw%g; .
A) T8 It % wem R Rl
; )?mﬂn%aﬁﬁ‘%l

(B) T =i &% WM FaRF R |
(C) T8 @i TETHl & T HFan A R |

;,/%Eﬁ B I T
12 ich of the following Acts, deals with

the rights of the communities that dwell

-1in forest over land and other resources ?
(A) Indian Forest Act, 1927
(B rest Rights Act (FRA), 2006
Indian Forest Amendment Act, 2019

‘D) None of these
L ahb e, b
A L ST
TRl @ weftra 2 2
- (A) IR 9= rfafEm, 1927
At

k (FRA), 2006
(C) uwef o= gsne= 2019

W&Bﬁaﬁ%ﬂé:ﬁ Al
Which . of the following is the

convention to protect ozone layer ?

: A) Basel Convention
Bonn Convention
_ [C) Vienna Convention

None of these

SR ET ) ﬁmﬁiﬁiaﬁ@r
BLERT =

i) 897
(A) ST THEE  (B) S g

(C) Bl (D) T @ =S 7E
1}1/thh of these gases is not permitted to
be released beyond certain limits by the

Prevention and Control of Pollution Act
by the Government ?

A) Sulphur dioxide gg Carbon dioxide
itrogen None of these

éﬁ 4 56 9 ) AR g guor frame

3R Frmwr stfufem g Pfega @ )

ek I e Y arg'trﬁr ey

(A) TR SEITES

% T STEHTFTES

D) ﬁgﬁﬂéﬂé’f

@
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32. What is the impact of climate change on .

d productivi
Egggggd garbon se t1)1(t=:stratu:|n

(A) ﬁﬁwﬂqﬁ:

(B) W

monument. The phenomenon “is also

called

rests 7
ﬁ Increased biodiversity
%S Increased wildfires and pest outbreaks
a:ra:ﬁthmqsm%?
(C) Fraq %
(D) W;g 3 e 3y gy
\1.33./]Acid rain corrodes the marble of the
Marble growth  (B) Marble evoluti
\%’Maxﬂe Safices ?[3)3 Eee
AT T TARE & THTR ﬁ [EITRE

aa'mﬁ | T ff FET TR |
(A) mg_%{ (B) TR e
(C) TTHTR (D) TR HFHar

¢ Which of the followmg is not a heritage
site as per UNESCO list ?
(A) Keoladeo National Park
BY Taipur city | '
(C) The Jantar Mantar

fD) Blkaner Fort

i |1 Il q:qﬁ 3

aamqasﬁtmawaqﬁ% ?

(A) Saeied T ST -~

(B) SEFIFR

(C) S da

(D) T I |
\_135] What is the State Dw Rajasthan ?

(A) Mundari Ghoomar

(C) Bhangra ©~ (D) Powada

TSTEH 1 TG e T & 7

(A) BTl (B)

(C) wrTet (D)

'\M art of Rajasthan is a minute

\‘p(aiuﬁag on glass using gold.
A) Devra (B) Thewa

(C) Phad (D) None of these
TSI Y AT FIH HT IGINT
i W TH e —_ﬁaﬂﬂ (ﬁm ﬁﬁn) 2
(A) T
(C) %8 (D) Eﬁ%aﬁéqﬁ
MKP

24

» Which of the following rivers drains into

Bay of Bengal ? _

(A) Ghaggar (B) Luni

“(C) Mahi @¥ Chambal .
frefeiiaa # & w7 T B T
H it 8 2

(A) IR (B) q:ﬂ

(C) W&t (D) <ae

. In which district of Rajasthan, Kalibangan,

a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (Dy Hanumangarh
TR T ST Tl & fhd
fedfRma? -

(A) ST (B) ST

(C) STt (D) TG

. What is the tagline of Rajasthan Tourism ?

(A) Land of gods

(B) God’s Own Country

(©) The Incredible State of India

(D) Full of Surprises -

TR Wi sl STeTTs 1 & 2

(A) ¥ 3116 Mega

(B) M@ Mg

() ITHReT Re w AR
B ATH TGN

40. Who was defeated by Rana Sanga in the

14

battle of Khatoli ?
(A) him Lodi (B) Akbar
Sikandar Lodi (D) Babur

el & g ™ T |im X R g e ?
(%) TR - (B) S
(€) ¢ (D) WX

e Tejaji fair is held every year at which
of the following places in Rajasthan ?
(A) Bhiwadi (B) Udaipur
(C) Beawar (D) Parbatsar . -
Tt A & A Tere & Frferaa o

T fore W R SRR R s 2 2

(A) P (B) SEAW
(C) & (D) WEq® -
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42. Rajasthan became the first state in India
to surpass GW of cumulatwe
large-scale solar installations.

TERYH WA 1 I8 THT TS & 7T %
e 93 TR W w9t Wi wfasmi &

_ GWHIWRE Rmng |
(A) 15 ~ (B) 10
(C) 20 (DY 23

43. Sports For All (SFA) sporting services

joined as the powered—by sponsor of
which event ?

V%/w omen U-19 World Cup
) Khelo India Youth Games
(C) FIH Women’s Hockey
(D) Khelo India University Games
TWIH BR AT (SFA) wifen it fea
3eIC < TS -1 T o6 9§ ivrer g8 2
(A) ST ~19 98 Y .
HERID R
(C) THIATTH T Blehl
(D) T sfen Ffafdid e -

\#44. VAYAM RAKSHAMAH (We Protect)
i motto of which armed force ?
(A) Indian Coast Guard
(B) Indian Navy |
(C) Indian Air Force
(D) Indian Army
T T (sntmm%)ﬁmmw
T TR 8 ?
(A) YT G2 & (B) sm?ﬁa AT

(C), TR I &1 (D) AR &1
" 145 Under which scheme of Rajasthan

Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?

¥A) Udaan (B) Shakti
(C) Pankh - (D) Pragya
TR G@R 6t fhe dmn & qga

et Jufera gt sem fFg SR & 2
(A) SgH (B) wim
(C) T@ (D) S

| S

In which of the followin cities, Ayush
Mlms I_Famsed Sc1ent%ﬁc Conver){ttlltsm

: omeopathy Day ? :
aipur (B) New Delhi

C) Bhopa% (D) Shlmla 5
LPIND|
foem 'éuﬁﬂeﬁ %
R G

(A) SEgr (B).

(C) W9 (D) e
lél,,“ﬂnch of the following airports in Karnataka

was inaugurated ¢ Minister Shri

Narendra Modi on 27" February ?
(A) Mysuru Airport
‘(Cg,Kempegowda Airport
) Shangalore A)l{port
1vamogga Airport )
27 wEd W yaEE ft W A g
“wtes 8 Tfefea & @ f5g ga-a
H g;ﬁ_lr_émw a1 7
(A) -3
(B) BT -37E
(©) fiﬂa‘r(gar%—aqgr

. Which country is known as a tax haven,

has introduced ‘Federal Corporate Tax’
for the first time ?

(A) Fl land (B) Mauritius
(%D) Switzerland
S ﬁéw%aﬂ 9 | ST

Ty Ygell 9K ‘held HURE %am
e R 2 2.
(A) Tt (B) wilw

(C) &g & 3ui(D) fRremtels

\149—Which city is the host of ‘5" ASEAN-
India Business Summit’ in 2023 ?

(A) New Delhi (B) Kuala Lumpur
% Dhaka -~ ﬁ(—B’)’ Singapore Cui'tr{a
LR 53 ITREH-

IR R -Fee” 1 AT 8 7
(A) 7 fewett (B) FIHATA
(C) erhl (D) RIS
1 TLMAL is a dJc:nnt venture between India’s
Tata Group and which co ’s counterpart ?
EA) USA \fa‘?ﬁrael
C) France D) Japan
TLMAL ¥Rd % 211 98 3R e 3ur &
THHE % SIS Th HY A 8 2
(A) quEY (B) sS™&«
(C) wrE (D) WM

25 MKP
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Section-D / ’ﬂ‘T—E
“English /

%W‘mch sentence contains an infinitive ? -
A) She gave him the boo
They made dinner for themselves.
To sing is her passion.
He saw the car accident.
~Fill in the blank using appropriate forms
of the verbs out of the given options : -
Not only you but your friend also
are

to be blamed.
A {Bg have

A) is
has ;
\,153. ch sentence contains an appositive ?
The car is blue.

My friend, a doctor, is coming to visit.

She runs every day.
The movie was emotlonal as well as

q—( thrilling.
W‘ruch sentence contains an mdlreet object ?
She bought a very nice book.
They showed him the way.
C) He pla ed football.
The ﬂowers bloomed beautifull

155

uu:ll out synonym for the underf,ned
WOr
Petrarch cultivated his fame and was the
first genuine [iterary celebrity.
eveloped B) sequence
'C) despair demonstrated
\,156’.’ ich sentence contains a . transitive
verb ?
A) The bird flew away,
She slept soundly.
The children played in the park
D He ate the pizza.
ich sentence eontams a co—ordmatmg
conjunctlon T .
(A) The sun was shining brightly in the
sky since there were no clouds.
(B) She had a headache, but she
continued to teach her students.
«C) After she had finished her work, she
went for a walk.
(D) He is tall, dark, and handsome.
\,15/ Department for military stores and
supplies is known as
%‘ﬁ Ordinance ; Ordnance
C) Ordination D) Ordinary
. Which sentence contains an adjective
clause ? '
(A) i[l'he girl who won the race was very
ppYy-
(BY He rode his bike to the store that
was very near to his house.
EC% She sang a song for the class.
D) We ate pizza and watched a movie.
\1607 Wthh sentence contains a gerund ?
He enjoys runmng m € morning.
B %}llle is readl(rll% a book &
ey played fennis after school.
The bg'd sang a beautiful song.

MKP

46T, “War and Peace” is a book by Tolstoy.
A) write EB “written
wrote D) writing

ich sentence is an active sentence ?
The cake was baked by my mother.
e car was driven l:K ){ brother.
he sang a song for the c ass
The movie was watched by
everyone in the theatre.

\Wch sentence is an imperative sentence 7
E } I think we should go to the beach.

Please turn off the lights when you
leave.
e is reading a book about history.
y played basketball in the gym.
7 Put the eorrect word from the optlons
; I have been waiting here the last
for

urs.
ED; over

smce
in
ich sentence is a declarative sentence ?
A) Can you pass the salt, please ?
What is your favorite colour ?
The sun 1s shining today.
D) Wow! That was an

performance!
66, Identify the complex sentence in the
following options.
A) The ogbaﬂcedandﬂlecatranaway
B) She went fo the store after she
finished her homework.

(C) He is a great athlete who also excels
in academics.

(D) They played soccer for hours and
then had a plcmc
Which sentence is in the interrogative form ?

A The movie was very entertaining,.
B She. went to the store and bought

ome milk
‘?Zf at time is'the meeting 2
He ran three miles this morning.

Wlnch sentence is a 31m1€he sentence ?
The dog barked and the cat ran away.
E‘B} The sun is shining and the birds'are

Q! wall%ed to the store and bought

some milk.
.,{B/ She loves to read books and
magazines.
!—69/ Which sentence has a subject-verb
eement errorth 1 oo
e and the mwallﬂn% school.
The fl c}\(vverstntl%:lr en are blooming.
He has two sisters and one brother.
sings and dances on the stage.
. She my request for travelling

turned down {B;

162
(A
B

amazing

l'l.l

turn off
turn out

26
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17¢”"“So.... that’ and ‘Such.... .that’ are the
es which express w
A) Adverb clause of noun
B) Adverb clause of verb
Adverb clause of manner

dverb clause of result

\172. Which is the correct active sentence of
the following passive sentence ? .
I was taken to the public library by my
. sis fore I was able to read.

to the public library bymy sister.
(B) Before I was a le)ci t)c: read, my
. sister took me to the public library.
(C) Before I was able to read, my sister
took me to the public library.
(D) I'was taken to the public library before
I knew how to read, by my sister.
\ﬂ@ve
©

gg;e xn{_long for : Irrational fealr ofh crgwds
itophobia }B;Deho obia
: Claustgophqbia _

Astrophobia

\.,1’7( Choose the correct verb for the
following sentence : '
Either

e ‘manager or the associates
the merchandise. -

_ is suppose to order
D) are supposed to orders

5. A/An is a word of exclania'tory,
expressing a sudden feeling or excitement.
EA? verb ED adverb
- C) interjection - noun, ..
\47{“”['11(3 sun smiled down on us.”
The above is an example of
n E
Metgphor 3
C) Personification. iy
D) Both __  (Metaphor)
. (Personification)
177" Choose the correct meaning of the
115110m or phrase given : ;

B e
T—

-and

clean breast of
To gain prominence
B) To praise oneself
- ~(C) To confess without of reserve
D) To destroy before it blooms
\/I{ Choose the one which best expresses the
iven sentence in Indirect speech:
anna asked Rohan, “Have you sat in a
trol is before 7’ :
v Manna asked Rohan had he sat in a
4 trolley bus earlier. .
(B) Manna asked Rohan had he sat in a
trolley bus before.
 (C) Manna asked Rohan if he sat on a
trolley bus before.
(D) Manna asked Rohan if he has ever
sat in a trolley bus.

Before I was able to read, I was taken
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Md the correct word to complete the

following  proverb and  familiar
expression : '
?)t\r?l,k;awhile the is hot.
iron water :
C) metal - zDg book "

1—80./Choqse the most appropriate articles for
the given sentence:
heavy rainfall last week was
disaster to crops that were already in
dismal state.
\W‘No article required, an, no article
required .
B) no article required, a, the
C) The,a,a _ ) '
(D) The, no article required, the
18" Which of the following best expresses
the same sentence in Passive Voice :
Do derstand what I mean ?
at I mean is that understood by

ou?
(B) %Vas what I mean understood by

C

{D; What I mean is understood by
you.?

MCh of the following options has the
correct order of words to form an

interrogative sentence ?
(A) A villian /was he/ not to do/ such a

deed ?7 oo
(B) Was he/ not to do/ a villain/ such a

s, deed 2, - ;
©) 1.!-Ic-\?vag / a villain/ such a deed/ not
do ?

‘Was he/ not a villai

deed ?- ‘

"ﬁNo soonet' had she rea
she fainted. - -
than

| wgefore g?)% there

\-181. What is the meaning of the word
" ‘vernacular language’ ? '
A) formal language
B) informal language
foreign language
native language
. Use suitable prefix to make the opposite
of the given word : -
‘Contented
im

A in
_ into dis
. Which one of the followin
example of “Collective noun”
A) Dog | B) Man
. Federation D) Milk

7.

ou
¥s what I mean understood by you ?

n /to do/ éuch a

d the telegram

Is an

Which word is an - antonym for
enerous’ ?

t ;
le} lscilrrllﬂcarted &3); gggg\tr%?‘le%t
| MKP
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i the

d the passage given below and answer
R::sﬁons pfron% gue. No. 188 to 192 h.y
choosing the answers from the given options :
Reading is an essential skill that students
der to be successful in their

need to develop in ord A SSIL
i onal lives. It is important
o pmfesgelading is not just about

to remember that
i a e, but about
ggﬁmdh‘%mﬂig mggping bgﬁgmd those words.
" Reading comprehension is the ability to

rstand, an , and interpret what you read.
e Thecll-,c are);iieral strategies that students
can use to _improve their reading
comprehension. One of the most important
strategies is to preview the text before reading
it. This means looking at the title, headings
and any pictures or graphics to get an idea o
what the text is about. Another strategy is to
ask questions as you read. This can help you to
clarify any confusion you may have and to
stay focused on the main ideas of the text.
It’s also important to note that reading
comprehension is not just about understanding
the words on the page, but also about making
connections between the text and your own
experiences or knowledge. This can help dyou
to remember the information better and to
apply it in different contexts. - 3

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension skills. So,
whether you’re reading for pleasure or for
work, take the time to practice and improve
your reading comprehension skills.

\188. According to the passage, what is
reading comprehension ?
(A) The ability to read words on a page
The ability to understand, analyze,
and interpret what you read
(C) The ability to read qmc&vll{at N
(D) The ability to write about you read
What is one strategy students can use to
improve their reading comprehension ?
(A) Only read the first and
sentences of each paragraph-
Skip over any pictures or graphics
Preview the text before reading it

D) Only read texts that are easy and
familiar

. Why is it important to make connections
between the text and your own
eéxperiences or knowledge ?

(A) To confuse yourself

{B) To remember the information better
and to apply it in different contexts
Eg; %o lgnairet e text
o make the text m i '
o icorel ore difficult to
MKP

\ 189,

last

|
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u&‘ﬂwcording to the passage,

A) didn’the?
| é@;/ldslnr: lﬁee??

how can
reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading f;cl)_r pleasure
By practicing reading _

%{B; pskipping over any pictures or
graphics _

@2/ t is the main idea of the passage ?
vx)m Reading is an essential skill for
success.

(B) Students should only read texts that.
are easy and familiar.

(C) Previewing the text 1s not an
important strategy for improving
reading comprehension. :

(D) Making connections between the

text and your own experiences 1s
not hel)l;ful for ~ improving -
. comprehension. -
\]93./0113 should oneself to whatever

circumstances one is placed in.

adapt - (B) adopt

) adept (D) acquire
. What is the meaning of the word
‘quintessential’ ?

(A) common \(BJ ordinary
) typical ' - (D) exceptional
. Socrates was ______ wisest of Greek
philosophers. -

(A) the = - _.(B) a
an (D) no article
6. Which of the following is an example of

a Xregosition ¥ B R
(A) sin <+ (B) happy
i i .7 (D) quickly
‘41‘{ Which of the following is an example of
a conjunction ? e E
(A) of .(B) because

| y E
\g{e@) beautiful (D) this =
Select the word for the study of rhythm,

- sound, pause, stress and pitc¥1 features of
a lanl%uage particularly in poetry and

speec FeR
(A) programme W;ody
prospect (D) protagonist
9. Which of the followin?g is an example of
o a Xossesswe pronoun
(A) my g}cf
(C) its all of these

200. He is here, ? Put question tag

(B) won’the ?
(D) needn’t he ?
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151.

152.

153.

i

154,

155.
156.
i57.
158.

159.

160|

Section-D / 9IT-
Hindi / &8

e forpeq o
TR ?
-4,

(A) I - §o
(B) ﬁg!l—gq ' -
(©) - @t - e
T e
‘BRX T Th1 A1’ HEEd Hl
el 31l T |

(A) 3T 9T Y 3= T Al Wy

(B) 3 UTH i 3r=st awq <l Wifdy

©) WH

iyl L
e AT - Eall

(A) SR & & o
(B) SHRHIHE BT
(©) famen frpeen -
(D) STl Tl

G- 1 A-tig wE
ag-vg
yiiumTelt - wEm
Rl

frfefea & @ frg Freq et i 4

SR TAT T TN IR ?

(A) iy,

(B) AR, wiemmr
(C) wfaffere, wiferfie
(D) W, .
N R O Tl [ o
(A) THEE (B) HaEE
(C) &9 = (D) ¥HEE

) %

i fro ag et R adt i g 7

(A) §9 + fu (B) T: + R

(C) A +3W (D) M+ 3+

‘TRt wreg fra A AsT R ?

(A) g gl (B) e g

g%gmagﬁg‘a‘\% XA TR
AT ] IET

(A) et (B) -rferrdt

(C) I . (D) AT

et wTefon Yee 1 WENT STE H BT &

A) UE |

(C) aT (D) Wi

T Q T ToRaT T TRV TE €

(A) tﬁwwﬁmﬁmam%%l

o

@

.
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161.

| 162

163.

| (B) T

164.

fover faen f uféi wreg 71 22

(A) Trft, fram :

(C) firema, sewht Egﬁ s}a%‘%ﬂqﬁ?ﬁn
ﬁﬁﬂt :

1. 2.6
3. e 4. 3y

| heteaieiveggd?

(A) 2,334  (B) 132
(C) 1,33R4 (D) 233
frferfie 3 & fore forepea 3 v o 7

87
367 g f5 £
o gﬁ@ﬂwﬁg%mﬁaw
g} ggl MaTe, AT R |
%D; ﬁﬁm%ﬁ%ﬁtﬁa%[

S 2 d B E ¥ A e

- SR

165.
. (A) SREEF TR

1“.

- ek
167.

168.

169.

170.

(A) el 5=} HIEH REera |

(B) 98 3 a1 ¥e1 331 U1 |

(C) T TN TH T E |

%wmaﬁﬁ%ﬁiﬁ?
W%WEWWW%?

B) @ 321 I A=A a1l -

%C; Rt =1 61 7T 2 - TiEE
(D) TIRF T YT - I

TAT <l 37 | B IR R

A) st
Om o
g{amﬁ@nwmmﬁaﬁm
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

W w fam @ g R st aen
%E%m% atﬂm%%m

(A) FEEEA T (B) T
(C) SR A (D) T T

iy PR aT T aeNa e ?

(A) Hi (B) e

(C) Rrem (D)@E i
oTel Y9 & g el A TR

A) Rma-wE  (B) N - =9
©) fw-wg (O ¥W-fma
Ay v & 7fE wrew @y # foafeiaa §
APATTEE 7 '
(A) 3Hd (B) €t

(C) T (D) T

‘IR T8 HH HAT 8idl, af 379 a9 Jql
A ' H2 -

(A) GWTST S I

(B) ey WM FIA -

(C) qul Wehard H1eT

(D) 3rqUt et - -
SferaT=reh |37 1 ISTE @

(A) W () d&.

(©) it @&
Al TR HAMA TR

(A) FTEd (B) T

©€) = (D) ISR
AT FEH 1 IR B AR ?
(A) | . (B) ®1

(C) ®H (D) FI

‘qfg g2i o1 THTER’ ! SATd HTal A1
(A) wETH (B) 9ema
(C) T=Ee (D) Il !

g 3 WIS BT - JaTa 1 37 8

(A) W@ RGEUGE AT -

% gia%?gmm

(D) reaftres wrge € |
fFreforftga % & fora famrea H ogm o 82
(A) M U HU T3 |

(B) afe s g 7 gam <t e gt |
(C) e STRET 8 9 H 1S 81 S |
(D) 36 TTeAd T i YT HAMT |
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182. AeRRErdd s AT o TEe?

183, Ioi® R TUYHR T W9 04 § &1 &
I A1 IREd Tl g2 @

() @)

(B gE-gEEEASEn
(C) SR Y A 3T IWST AT |
(D) T o fire o fore wrenfa &M |

184, 39! A - -tl?f-#\'ﬂ:ﬁ It
won | fA-gft va-=ph S gere

T i | e & ? o
(A) o $g 3R T Sresira & | -
(B) & fmt v | '
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(D) 3Tt TIeh! BT |
o
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